Rewriting Multiplication Lesson

Rewrite the array as a multiplication problem as a multiplication problem.
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Explanation: This is a simple multiplication problem. A multiplication problem consists of
three things:

a) the number of factors present
b) the value of those factors

c) place a product symbol (e¢) between all the factors.
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b) What are the values of the factors?
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Factor1 =4 Factor2 =46

c) We now know that we have the two factors 4 and 6. The only thing left to place a
product symbol between the factors.
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